Try 1t!
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Show: s = p
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Direct Proof]
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[ Modus ] P=q;p

Ponens Q

You can still use all the
propositional logic
equivalences too!

Fill out the poll everywhere for

Activity Credit!

Go to pollev.com/cse311 and login
with your UW identity
Or text cse311 to 22333




Inference Rules
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You can still use all the
propositional logic
equivalences too!

DeMorgan’s

AV —-A

(Quantifiers)

P(c) for some ¢

Intro 3
Ax P(x)
AxP(x)
Eliminate 3
. P(c) for a fresh ¢
Vx P(x)
Eliminate v
~ P(a) forany a
P(a); a is arbitrary
Intro v

Vx P(x)

—(Vx A) = 3x(—4)
—(3xA) = Vx(=A4)



